B-1229(3)

VIDEC

ik sk B E

LEDBERTN
LD6 AT

COERIDECHREREN LITVWEEE. HONESTSNEY . TEXDHBICHEZN OB\
CHEBDD A COEKFBEDANBTEXI S BHAHNELEEU TRALLESL,
FIE CORRRPEF D —TRICTRIDICRELSIES0,

EXYT T

AEERBAE TR R >IN IRNE LIEBEICE LR T ENFRISNDBROES N\ Z MEE] NER]

EUTXBILTVET,

RV ZE S RIBB AR FZREREZEDSYEMD DD ET,

Ey&[/i—'EinE BE.ADEIEZEDDMNBENRET DTREMENDOET,

N E S

- FRARED. ARRBOHKREICZHOAS CBEORNC EEMFHRITIU),

- RISHESDRETOBRDEF RV, BEDRIICHREORNBERE L TIIESU,
ABICRBEBRRDDDIZES. BET DEICEHL T TITHERIZE,

* RBERTODMR. B, BERROHLIITEN), (BEEOBUEISKE « WiE - WL - IR1FENE,
BRBEBWICDOBRNDZET,

* BIFORIBOARLRERIZIA CORNYITIE. BBDBRHCHIFRLITO>TIRE,

 ARBDBIFZESIKOICD. BLRAALD URNTLZEW, BEODRREZRDFT,

FE. BRICERFUZDDHDDSRNKDICIZDFEE TEAR SN,

« ARBOEYT. B¥ L. LED Ay OB R EARIFRESUTBREZL > TIT o TS,
RERUNSKEDBIENDOFET .

« ARRIFEH OB U \KREEBEGOEE TRESINTRDFTIN. B—ARRBOHIRICKDERR
BHWOBBOREDBNDDDEENDCHERADKRICE. T —IL2—J#EEY 2T AICBNLT

c EBEEZEMTTF O TIZE,
+ ABGBICHNENZIZNTLSESN, FIEBIEULIRETHE. BARULBNTIES0,
- ERREREEMNTT O TS,
ERABERER. AHREBEDRETY, BEEERLTILESL, RSBRENLER L.
BEORREBRDET,
#RE) - BEOZNS COREAD, REF>LENTZE, BEORRICEVET,
* RUERDHRBRNTZS, REBSICKEESELET,
« HIEDESBEICEYT TS,

|1 BEI L |

LDBA-5WZQB-RYSGWC

;;2;51 168 i zjgﬁﬁcm
. 5°3 £ =1, - AR Q=
2i2e S T pnnss e EROL® T ouPL Y
3:s8 W BRI 51T Y@
448 D : BEUTS T s s
558 P R— VI35 T G &
(PERE) W: EaPmRDT
K K= LB 51 7
(L eEa
G
EREE B:5—05L—
Q : AC/DC 24V W:S1hIU—
s
IR
7 AT/ s T —
[ 2 ETYY |
EREE AC/DC 24V
EASRBE(UD 60V
Wi EDFEIEB e 8:25mA, ##-5:30mA, £ 2 PR +:20mA
EES -2 :06W, §-B:075W, £ PRI+ k05w
BFREE JIS C8201-5-1. IEC60947-5-1. EN60947-5-1, UL 508
CSA C22.2 No,14
EREEEE X1 ~25'C~+65C (22 Lok LIS &)
(EFETRE 45%~85%(e T2 L 168 LB C &)
REBEEE ~40C~+75C(E/E LUK LB &)
ERABES BREAZNENCE
(BRI ENSA
BWEEANT I I (IEC 60664-1)
A Y)YV AMMEE 800V (IEC 60947-1 / JS C8201-1)
fBIZIEHT 100MQ I E(DC500V X AIZT)
HEE(BEE) ACT000V 1 DGl EIFRasi)
TREIGEEIE) B8 10~55Hz A IRIB0.5mm
&SGR 147m/s” 6HAB6E
RBH(SEE *2 | 0300008H
(25 CEBIETHREBEERLBR TR L, BENIEDS0%CE2658.)
(RS P65 51
S/ T =51 T R— VB 91 TR EE)- U & BXEmRE
IP23: R— LB T 9 T @B -L G S @M
(IEC 60529)
SWEES %91050/158 (1.75Hz2)
TH—BE(at 1m) 70~90 dB(3.3kHz)
P T —1:497008/158
TH—2:40365@)/ 15
T & 110mA
TH—Z=ABR 250mA max.(DC), 400mA max.(AC)
1 UTOBE. ERUTRETERSN IBROEABERED LRIZ.50CICEDET,
DERHBERTREED
RGBS DHE T2 E (I TR fR B fR % 75)
QAR B FR-BR-E2TPIRDA S R-B-B-fR-E2PHRIA )
X2 LED. JY -0 (ERRE - ERARHEE TRELEB > TEFXINT,. TEBLESL),

| 3 BB |
SRRSO G LEECSRIES),
IRTITRIE RGTT TR E SR 2SN,

O TS —BELDMRNICT DR, EBHEECHERIIZS0.
(RUT/ R/ TS =51 )

O —LARNIZ1T

DIU—ALICTU—LAT Y FEBAULNBOREZNRALIME) T2 LD TS,
BB B ILD(E 2.6~27N-mTT,

OREREZEEZDASSEIIRETR UMD ZEILDHTIES,
SHEERY RLDE1.6~17N-mTT,

JU—LBF v+ %3

HEE&R(T L — AT
M4ral:4 MSRUL:2
[FHafE® 4 [FREE:2

Yy REIR

(M20XP15)
TEEE4  WEE:2
B8 D49FA S

%3 JU—ARUIU—LAT Y FOERRRAIITRECSRIESL.
JU—=LFy FOBYIIE A= DDEYTIEZE CHERIES0.

¥4 OB30ZEABLEIEAREDTU—AKDE>HELET,

DJU—ARUDU—LRBT v ~OERRED VAN welnke

2yYyk/

Qu=t9AR | Ju=h | JU—bAEFYb 27 FROESMFILFYTILIVIY &
030 x4 SFF-302 iigiﬁg; SUSHRAERL A b:C<7‘§él/\ﬂ
oo PkMEAENNBIEDNET,
SFB-008 JUFITNIVI Y FTDONTIE
040 SFF-402 | SFB-4A5 SUskARA | REDIJLF YTV IV Yy MERRKREILZ
SFE-108 CBRIEE,
DJUFYTIVIV I MERRZKB
| ENPD | J1vFaYT EPSMS A=7
RERT A X
@IS T [ M20 | AL16/M20/A/BL [ PAFS16BL | ADAPTAFLEX |

OES/NRIVBICEYTITET L PBD/ Ny F Y EEBER UIMAX20) T4 FLEDH T IEEL),
SHEEY RILDE1.6~1.7NmTY,
ORFEREENABSERIRETRALMAXB) ZIEH T IZS,
HEERIY RV 1.6~1.7N-mTY,

ARV
UEE G (BT
Sk M4 L U=20):4

M4 LU=8):4
FEREMA):8
[FREE(V4):8

I

Ty E(vi4):4
®8:1
INyFi
OB IH 1T
RN RLD3.26~27N-mTY,
—— UEEBR@EEUTT) —
M5RU:4 T ~(M5):4

FREEMS):4 O-UVT:4
PEREMS) 4 JNwFV

VBB ON—)VEY T B R
MBRL:4 Ty EM5):4
[FRERMS):4 O-UVT 4
FEEMS):4  NyFUi
=25V RE
3-M4EY7T

OR— VBT TS 1 T (RGN

IS [CAIBRRDEY I TIEN'D DIZH
RO I TIEC DN TERENZ LET,
SHEERBY RILDIE 2.6~2TNmTY, "

5130

R=ILRE YR
- NyFy
~_/\RJL

TS

OR—)LEUSII S 1 T(LEEENRD
LIZEBREMA TR DIEE. M22)
HRBICEYITNDT vy YT R"ETY FM22),
FEE LEEEZMON UERDKIDICTER. B
T EM22). Ty Y YT DIBICEYIT T ZE0)
HEERIY RV A0~ TIN-m(M1O)TY
SRR~V DL 25~26N-m(M22)TY.,
HEIDBIGIFIE L THROEEBADT,
RERICTTHRLEZES),

@YU TE (BT mm)

BRI BRiFIY . [ S BRieT 2
. ¢1§ [7 A»@BE&
41 < =
¥ BS ;\;f 4
anEI | AN,
ol | I T | A R | ngj
yie o BEIH 1T R—IVERTIT 5 T(BRAER)
Lv&ammE LvREK@EEE
Y LOI )
18

=V IS 1 T(LIEEREN) ——

ST B B INFIN DB BEOH ST SBIBMICIYITIES,

KPR GERP I TR T ZS,

+F vy LEDIZy FEH UL ZFOME. ERR> LBN TS,

UBO/NY FVEMFTIROPI T ES) Pk EEEMERDNE T,

RNBICUOHHD5EE. KIERENERDN D TRMD DD XTI,

BIIEDMIE ERR D ERIIEA LN TIIZE,

BARSN U ZET > T EEL),

Y R ILODRREEN TVRNRLIC DN TR D ASEN T ZS0),

SHREIDBVA T BRI EDR U ETELEN DD LT,
RYDYDENDDHIEHWEET > TS (ERESRENFT,) |

2-M47ET UYL LAY
GESERN RV 11.1~1.2Nm)

KN LEDa=y MEBX R

HABZMERIS M TBREL) > TT > TEEL),

F v TEVATRARSANEANRICVYA T RARSANE
ZURAATTLBEDICHABEN L FTIOH LT EEN,
VA FRARSANDEIHDEHD mmAEATmmIL EDEDIE
BRALRNTLEZES,

PRONACERDHUTHSLEDAZ w FEMBZIEE0),

LEDAZw hRUF v v TEHMICRE. BIEOBHEEHET
AT IZEN BEZEOERNTRMICHEIITEI &
RIETDWNNADBDET,

R UDHESEHIIT FILDIZ04~05N-mTT,

Frvd

LED1Zw

@ @ ®

NATARSAIEAR

,
<R USRI )LD TRHDI T TIIZENBARRETERT D ERIBIT RN BDET.
‘LEDO =y FOEEICHMNBZNTLZEN FRICBEFNMNDEHEINNDOLEDERIET D
BNHHOFET,

BRHIISERFE T TITRA<IES,

BRBICIH CIZR Lz CRAIEEN. (BIFD)

*LEDOAZ v OB Z DK @M (BEDICTERES,

N FUEH VTR TR TS ES0\ Bk IEBEDMERONE T .

4
8

BEEREGHE (RAT/ R/ TH—2 14 TDH)

BERELN-ZEECCEND UBEZRFHIES)),
UIN=DEIRORETEENRAICRD Y. (B

BEREL/N—ZEECEN T CRIBETDRNDDOET,

BEREIL /N —

| 6 B %A

BHRIC DN TIIBCHRBIIC I > THERBICHEERZEH L TIIES,
EhE o ICEHR & 1T D CINBIDEB A LE T,
EAURNEDERIE M THRBE LTI ES0,
*BRIFICIE BERRORKICE 2 —XEANTLES),
LA ARBEMD N ITDEBOERBICH > EENEEAEE.
<SRBI 2 — XML [RULIRIB R ZE CIRA<IEE),
T ANERIEMFTD S X2ERE CRAIEE0,
{BEOLEDA =y ~EEHIEAT IRDERBEI1RHLED DERBEESEICERBTEERTE
<EEW.(FROLEDAZ Y O ADESIETRITI DTH)
RACRERICEEZENT LN T ZEN BUELET.
BRIFE RACREIRERER LS T ES, ASOBHIRIZELE T,
T RBIERB AN ZE IR S B TREALES,
KT Ri T = A TEEHERBIFBSE DBSIINEERERIISE TEAR<ZS),
TY—1, 2Z2WAEAT IBEEIRITAETY-—ATERIBI ULEASEREEAES,

BorRE
(RAIZAT) ST (RAT/ R/ TS =541 ) gl
SEBiER LED#H il Ny
. LED® -~
= LEDH TED= =
LEDE ) LEDB - i
& | EDE = | E Dt 7mAF ~d
TH—1 ®
LEDER 8 : ~of
= T2k
= EDEIPAO(hA ]
CIPROAE

Ea—Z1A & (AC/DC 24V)
—+—o

iRe—& BIRY 1 TANG22 TiRY 1 L AWG22
R T FiRE R/ R/ TF—=F1T BiRE
LEDIZw b-7F e LEDIZ v k-7 T
LEDOAZ v h-& BE LEDOA=v ~-& BE
LEDAZv -5 & LEDAZ vy -5 &
LEDOZw -7 HRE LEDIZw h-f& foa=s]
LEDIZw h-Ea7AD1 k EE LEDIZ v h-EaPmo + EE
TR =] TH—1 E3E]
Ea-X TH¥-2 ke
7B
e
26
AT ERER T —ANEDERER
ACFSNEIEREE RE2 100mARLE ACFSBSIERBE 400mAME
UBHIED) BE AC 35VILE (TF-18HBED) AC 35VIE
DCRsNEbERT R/ RER 100mAM E DCAsEiERB®R/ |EBRSE | 300mAMLE
ABESVIRSBER 5E 35VIME NESYIZSBE | 35VIUE
(1EBHED) R"NER O 1AmAMT (TF-18H1ZD) BNER O 1mAT
ABERUTE
QNI EH
AT T
DU—ABIST  EERSTYT BRI TT TR—JVES IS 1T TR—JVERS IS 1T
51T (AFZEEER) (LEREN)

«PE—EXR (81 mm]

8| JU-LBRNI94T | BRIGIS1T | BEYIHAT N—LEREIS 1T
(%)) L2 L3 AFEEN(L4) | LERENLS)

1 156 156 98 408 372

2 186 186 128 438 402

3 216 216 158 468 432

4 246 246 188 498 462

5 276 276 218 528 492
R/ R/ TS =51 T
DU—ABST  -BEYIST BESIS1T TN—JVERS S5 1 T TRV 35 1T
&1 (PSR

=

(Lz&EEN)
—60

(N
=

.
g
PE-BR (81 mm]
BR¥| JU-LRUIS4T | BREOY1T | BREIYAT N—JVERYI51 T
(%)) L2 L3 AFEEN(L4) | LEEERP(LS)
1 228 228 170 480 444
2 258 258 200 510 474
3 288 288 230 540 504
4 318 318 260 570 534
5 348 348 290 600 564

NPNF% t 5> 925 ERENBI 1R
— ~52928
% LEDf b
LED#& 18
El LEDE  E
= LEDS i
EDEQPROA b0
B
EaPROE
- |
; E3-X1A @5 (OC 24V)
EREE = 2 \ i
=A%
PNPTE 5> I 2 S ERENEI s PNPIE 5> I 2 SERENHI
O AERSYYRE LED# #
— LEDE
= LEDS b3 LEDE &
LEDE ) LED®R
5 LEDE &, D]
BE2 %

LED## <854
EDEAPMIA B

TH¥-2 x*

5

i

EaPRI1 b

[

<%1$ (DC 24V) H SHCOM #*
2 \ w88 M
B 2 EJ~X1A(7§€;I§ (DC 24V)

H z=tocas

ARREFERT DS ERREENC U TR TIES,

IDECHI=tt

T532-0004 AlrihiE/IXAER 2-6-64

https:/jp.idec.com/

EURSHESIC CRPBRATCRNE UIE D,
REESEBR0CHBNEHELEE.

=

2021.12




B-1229-1(3)

VIDEC

INSTRUCTION SHEET
LDG6A Series

Confirm that the delivered product is what you have ordered. Read this instruction sheet to make
sure of correct operation. Make sure that the instruction sheet is kept by the end user.

| SAFETY PRECAUTIONS \

In this operation instruction sheet, safety precautions are categorized in order of importance to
Warning and Caution :

Warning notices are used to emphasize that improper operation may cause severe personal
injury or death.

Caution notices are used where inattention might cause personal injury or damage to equipment.

*Read the specifications described on this sheet to make sure that the operating conditions are correct.

*Before designing the final equipment and powering up the LDBA Series, confirm the specifications
decribed on this sheet. If there is any uncertainty in the description, contact IDEC before powering up
the LD6A Series.

+Do not disassemble, repair, or modify the LD6A Series, otherwise severe accidents may result, such as
electric shocks, damage, fire, or malfunction.

*Make sure that the LDBA Series does not fall during transportation, installation, and operation, otherwise
damage may result.

+Do not pull out or push in the cable of the LDBA Series, otherwise damage may result. Give a slack to
the cable while wiring.

+Turn off the power to the LD6A Series before mounting, dismounting, wiring, and assembling the LED
unit. Make sure of correct wiring, otherwise electric shocks or fire may result.

+All LD6A Series are manufactured under IDEC's rigorous quality control system, but users must add
failsafe provision to the control system using the LDBA Series in applications where heavy damage or
personal injury may be caused in case the LD6A Series should fail.

< Apply a voltage within the rated value.

« Do not apply an excessive force to the LDBA Series. Do not leave a damaged LD6A Series unattended
or use a damaged LD6A.

» Make sure of the correct operating temperature, which is the temperature around the LD6A Series.
Otherwise internal temperature rise may result in damage.

« Do not use or store the LDBA Series in a place subjected to vibrations and shocks.

« Do not loosen screws, otherwise the protection characteristics will be impaired.

« For use on a flat surface of a Type 1 enclosure.

« Maximum surrounding air temperature rating 55°C.

Type ‘

LDB6A-5WZQB-RYGSWC

Tiers Lens Color
1: 1 tier Installation Illumination Blank: Normal
2:2 t!ers G: Frame Mount R: Red C: Clear
3:3tiers - wall Mount Body Color Y: Yellow
4: 4 tiers D: Direct Mount B:Dark Gray  g: Blue
5: 5 tiers P: Pole Mount W:Light Gray  G: Green
(with stand) W: Pure White
K:Pole Mount Rated Voltage
(with L-shaped bracket) Function Q: 24V AC/DC

Blank :Continuous Lighting
z :Continuous Lighting, Flashing, Buzzer

Specifications

24V AC/DC Class 2

60V

Red, Yellow: 25 mA __ Green, Blue: 30 mA
Red, Yellow: 0.6W Green, Blue: 0.75W
UL 508, CSA C22.2 No.14

IEC60947-5-1, EN60947-5-1, JIS C 8201-5-1
-25 °C to +55 °C (no freezing)

45 % to 85 % (no condensation)

-40 °C to +75 °C (no freezing)

Free from corrosive gases

Indoor use only

II (IEC 60664-1)

800V (IEC 60947-1/JIS C8201-1)

100 MQ minimum (500V DC megger)
1000V AC, 1 minute (between live and dead parts)
10 to 55 Hz, amplitude 0.5 mm

Rated Voltage
Rated Insulation Voltage

LED Rated Current
Power Consumption
Applicable Standard

Pure White: 20 mA
Pure White: 0.5W

Operating Temperature *1
Operating Humidity
Storage Temperature
Operating Atomosphere
Operating Location
Overvoltage Category
Impulse Withstand Voltage (Uimp)
Insulation Resistance
Dielectric Strength
Vibration Resistance
(operating extremes)
Shock Resistance

Life *2

147 m/s?, 6 shocks each in 6 directions
30,000 hours
(until the brightness reduces to 50% the initial value when lit at
complete direct current of the rated voltage in 25 °C environment)
IP65:Continuous Lighting
IP54:Continuous Lighting, Flashing, Buzzer

Pole Mount (with L-shaped bracket)-without L-shaped bracket
IP23:Pole Mount (with L-shaped bracket)-with L-shaped bracket
(IEC 60529)
approx. 105 cycles per minute (1.75Hz)
70~90 dB (3.3kHz)
Buzzer 1: approx. 700 cycles per minute
Buzzer 2: approx. 35 cycles per minute
Buzzer Power Consumption 110mA
Buzzer Inrush Current 250mA max.(DC), 400mA max.(AC)
*1 The highest temperature is limited to 50 °C when all tiers are lit continuously in the following combinations:

Two or more tiers including blue and green (Example: Red-Green-Blue, Green-Green-Red)
Four or five tiers (Example: Red-Yellow-Green-Pure White, Red-Yellow-Blue-Green-Pure White)
*2 Note that the durability of the LED is greatly attected by the operating conditions.
Note that the durability of the LED and Buzzer is greatly affected by the operating conditions.

Mounting \
«See the figure on the upper right for the installation of the LD6A series.
«For details on mounting holes, see Mounting Hole Layout.

@In order to make the buzzer sound more effective, face the unit to the front.
(Continuous Lighting, Flashing, Buzzer)

Degree of Protection

Flashing Cycle
Sound Pressure (at 1m)
Buzzer Cycle

@Frame Mount

(DiInsert two frame nuts in the frame, and attach the bracket using two M5 screws.
Recommended tightening torque: 2.6 to 2.7 N-m

(@Mount the LD6A to the bracket using four M4 screws.

Recommended tightening torque: 1.6 to 1.7 N-m
Supplied Parts

Bracket Frame *3 (Frame Mount)

Spring Washer Frame Nut *3
] & M4 Screw c 4
198 Spring Washer : 4
(] Rel Flat Washer t 4
N M5 Screw D2
e Spring Washer : 2
Flat Washer : 2
Bracket o1

®\ M4 Screw, Spring Washer, Flat Washer

*3 See below for typical examples of Frames and Nuts.
Consult the manufacturer for the installation method of the frame nut.

-Examples of recommended frames and frame nuts

Frame Nut Manufacturer
SFB-001
SFB-4B5
SFB-101
SFB-008
SFB-4A5
SFB-108

Frame
SFF-302

Frame Size
[J30 mm *4

SUS Corporation

[J40 mm SFF-402 SUS Corporation

Conduit hole
M20 x P1.5

*4 When using a [J 30 mm frame, the LDBA body protrudes from the frame.
« For Frame Mount
Use flexible conduit only, otherwise the waterproof
characteristic will be impaired.
Refer to the "Example of Flexible Conduit" shown below.
- Example of Flexible Conduit
[conduit hole size [Fitting
[M20
@ Wall Mount
(DMake four tapped holes in the mounting panel, and mount the bracket and gasket using four
screws (M4 x 20).
Recommended tightening torque: 1.6 to 1.7 Nem
(2Mount the LDBA to the bracket using four screws (M4 x 8).
Recommended tightening torque: 1.6 to 1.7 Nem

Fitting

Conduit /

| Conduit | Manufacturer
|[AL16/M20/A/BL [PAFS16BL |ADAPTAFLEX

Supplied Parts
(Wall Mount)

M4 Screw (1=20) :4
M4 Screw (1=8) 14

Gasket Panel

g

Flat Washer
Spring Washer
M4 Screw (1=20)

CAUTION

+Mount the LD6A light on a flat surface not subjected to vibrations.
*Do not mount the LD6A light upside-down or horizontally. 2-M4 holes for hexagon socket set screws
+Do not leave the LDBA unit without a cap or unassembled. (recommended tightening torque: 1.1t0 1.2 N-m)

«Install the supplied gasket, otherwise waterproof characteristic is
impaired.

*Mount the LD6A light on a flat surface, otherwise waterproof
characteristic is impaired.

*Do not apply any chemicals which may corrode the plastic material.

*Deburr the wiring holes.

+Do not loosen the screws for which tightening torque is not specified.

«If the LDBA light is subjected to strong vibrations, the hexagon
socket set screws may become loose. Apply screw lock paint.
See the figure at right.

Assembling the LED Units \

Wire Color Wire size | AWG22

Wire Color
LED Unit Color - Red Red
LED Unit Color - Yellow Orange
LED Unit Color - Blue Blue
LED Unit Color - Green Green
LED Unit Color - Pure White White
Power supply wire Yellow
Fuse

Rated Contact for Continuous Lighting

Wire size : AWG22

Continuous Lighting, Flashing, Buzzer | Wire Color
LED Unit Color - Red Red
LED Unit Color - Yellow Orange
LED Unit Color - Blue Blue
LED Unit Color - Green Green
LED Unit Color - Pure White White
Buzzer1 Purple
Buzzer2 Light Blue
Flashing Brown
Power supply wire Gray
Power supply wire Yellow

Rated Contact for Buzzer

Contact Capacity |Current Capacity

100 mA minimum

for AC

Dielectric Strength

AC 35V minimum

Contact Capacity
for AC

Current Capacity

400 mA minimum

AC 35V minimum

(per one tire) (per one sound) |Pielectric Strength
+Turn off the power. . Contact Capacity|Current Capacity [100 mA minimum || Contact Capacity|Current Capacity {300 mA minimum
ap for DC/ for DC/

*Remove the cap. Insert a flat screwdriver into the slot.
Use a screwdriver 1-mm thick and 7-mm wide maximum.

«Pull out the cap by hand.

+Loosen the screw in center.

+Rearrange the LED units.

*When assembling the LED unit, make sure to a lign the recess of the cap
with the recess of the LED unit.
Otherwise, damage may result.

+Screw tightening torque

:041t00.5Nm

LED Unit

@ Screwdriver Slot

«Tighten the screws to the recommended tightening torque. The LED unit may
be damaged if the screw is loose during operation.

+Do not touch the metal tabs of the LED unit. When a hand touches the metal tabs, static electricity may
damage the LED elements inside.

*Use a maximum of 5 tiers.

+Use an appropriate screw depending on the number of tiers. (optional)

*Note the correct orientation when assembling the LED units.

*Do not remove the packing from the LED unit. Waterproof characteristics will be impaired.

Sound pressure adjustment (Continuous Lighting, Flashing, Buzzer) \

Move the sound pressure lever to the right and left to adjust the sound pressure.

Transistor Rating

Dielectric Strength

35V minimum

(per one tire)

Leakage Current

0.1 mA maximum

Transistor Rating
(per one sound)

Dielectric Strength

35V minimum

Leakage Current

0.1 mA maximum

Dimensions

»Continuous Lighting
+Frame Mount

*Wall Mount

+Direct Mount

*Pole Mount
(with stand)

*Pole

Mount

(with L-shaped bracket)

Flat Washer (M4) :8 The sound pressure is at maximum when the lever is set to the right. Sound pressure
3 - Si fi t th ight adjustment lever’ i .
ﬁzzl?’a‘\‘/;/asher (M4): 2 (See figure at the right) z -Dimensions
Bracket 1 A CAUTION MIN Tiers Frame Mount Wall Mount Direct Mount Pole Mount
Gasket 01 *The sound pressure adjustment lever may be damaged if it is forcibly moved. &ﬂ""“x wn (L2) (L3) (L4) (L5)
0o i 1 156 156 98 408 372
@\M4 Screw (I=8), Spring Washer, Flat Washer n erlng ‘ 2 186 186 128 238 202
@Direct Mount Supplied Parts {f§ CAUTION 3 216 216 158 468 432
-Recommended tightening torque: 2.6 to 2.7 N*m (Direct Mount) +Connect the wires as shown below. Incorrect wiring may damage the internal circuit. 4 246 246 188 498 462
g M5 Screw M5 Screw -4 *Connect the wires to external contacts as needed for the number of tiers. 5 276 276 218 528 492
Sering Washer Shring Washer(ts): 4 .\év:::elétsgr?ef!?):rrct)frrizgfl:::’tgntsf?ela;?)\}vheer lIJi:ssaesdsvr:gfvsr: in the figure below. *Continuous Lighting, Flashing, Buzzer Pole Mount
Flat Washer (M5) : 4 : - . . +Pole Moun
Flat Washer Nut (M5) M9) 4 +Use a UL listed external fuse holder. *Frame Mount  -Wall Mount *Direct Mount l(:\:,)ilti '\S/l:;igt) (with L-shaped bracket)
O-Ring -4 +Use a Class 2 power supply only.
Gasket -1 *When using the same color for two or more tiers, only one wire is used to light all tiers of the same color.

Gasket

Supplied Parts

Determine the contact capacity in consideration of the LED rated current.
+Do not apply voltage to flashing (brown) lines.
*Do not connect flashing (brown) lines with power lines. The internal circuit may be damaged.
+Do not turn on the continuous lighting and flashing contacts simultaneously. Use separate outside contacts.

@Pole Mount (Pole Mount) *When operating several continuous lighting, flashing, buzzer type units simultaneously, use separate outside
*The pole mount type can be installed in four ways. M5 Screw 4 contacts.
i i i . . *When using buzzers 1 and 2 simultaneously, use separate outside contacts for continuous lighting and buzzer
The recommended mounting method is described below. Spring Washer (M5) : 4 When using buzzers 1 and 2 simult 1y parate outside contacts for cont lighting and b
-Recommended tightening torque: 2.6 to 2.7 N-m Flat Washer (M5)  : 4 Wtimz ‘g}gzs;pecnve'y' S Extemal Contacts
M5 Screw Nut (M5) -4 sk Ay External Red Continuous Lighting
O-Rin . 4 C,u!',‘f‘f LED Red Red wire 1
ok i EDRes Redwie [~} Vel | [ Eba e
Pole Stand aske : LED Yellow: _Orange vire ~ |ED Green: Green wire
— Gasket Pole Stand Yellow LED Blue: _Blue wire ~ Blue D Pute he_Whie e
Panel ole an 4-M4 Mounting Hole Bise LED Green: Green wire - ~o i Soen Buzzer2: Light Blue
—~._ranel ED Pure White: White wire, ~ot External Contacts
Flat Washer Green L.l Pure White ashing

3-M4 Mounting Hole

4-M5 Mounting Hole
(recommended)

Hexagon head
bolts(M22)

@Pole Mount (with stand)
*Installing without L-shaped bracket
Remove the bushing, hexagonal nut (M22), plain

i

washer, and L-shaped bracket from the pole. Install @
in order of plain washer, hexagonal nut (M22), and \Spring Washer* ¢
bushing as shown in the figure at the right. Flat Washer* Flat Washer

*Recommended tightening torque(M10): 10 to 11 Nem

*Recommended tightening torque(M22): 25 to 26 Nem

The parts marked with * are not supplied and should be
prepared by the user.

) Hexagon head
S bolts(M22)
. .
Hexagon head bolts* —~ Bushin
(M10) %

" Bushing

without L-shaped bracket

@Mounting Hole Layout (Dimensions in mm) Wit L-shaped bracket
Wiring hole] Wiring hole | |Recommended) > Wiring hole
> 3%, — 4855 ’
s L
¥ QI“: g5
N
 Front  Front
Frame Mount—— Wall Mount —*— Direct Mount — Pole Mount

Pure White

Il Flashing COM: Brown
Power supply wire: Gray

Power ‘

1 supply
T——0 24V AC/DC)

ower supply ire: Yellow

Power supply (AC/DC 24V)

Power supply wire: Yellow | Fuse 1A

. ) —
NPN Transistor Operation . NPN Transistor
Continuous Lighting
Jansstor Red LEDRed: Red wire I
Red LED Red: _Red wire 7 et LED Yellow: _Orange wire I
LED Yellow: _Orange wire . o LED Blue: _Blue wire
Vellow T LED Green: Green wire
LED Blue: _Blue wire fL\_h Bue ED Pure White: White wire
LED Green: Green wire : Buzzert: _Pumle
Blue /_L\_T; Buzzer2: Light Blue
£D Pute White: White wire 7 Green -
— ] NPN Trarisistor
Pure White Flashing
Pure White |

L Flashing COM: Brown
Power supply wire: Gray

B

Power supply wire: Yellow 1A supply. [E]
E——§eavoo) Power supply wire: Yellow | Fuse 1Am Power supply (DC 24V)
. ) —
PNP Transistor Operation PNP Transistor
7 Red Continuous Lighting

LEDRed: _Red wire
LED Yellow: _Orange wire
LED Blue: _Blue wire
LED Green: Green wire
ED Pure White: White wire
Buzzerl: P
Buzzer2: Light Blue

7]

LED Red:
LED Yellow:
LED Blue:
LED Green: Green wire
LED Pure White: White wire.

Red Red wire Yellow

Orange vire

Yellow Blue

Blue wire

Blue Green

Green

Pure White

PNP Transistor
1a,sn‘l"9

Pure White

with L-shaped bracket
x)

Y

without L-shaped bracket ,.p}
0
@

Pole Mount (with L-shaped bracket)

B

I Flashing COM: Brown
Power supply wire: Gray

ponr \

)
Power supply wire: Yellow Power supply wire: Yellow Fuse 1A Power supply (DC 24V)

supply
9 sV bo)

25,

174,

126
25

174,

*Dimensions
Tiers Frame Mount Wall Mount Direct Mount Pole Mount
(L1) (L2) (L3) (L4) (L5)
1 228 228 170 480 444
2 258 258 200 510 474
3 288 288 230 540 504
4 318 318 260 570 534
5 348 348 290 600 564

Precautions for Disposal

Dispose of the LDBA Series as an industrial waste.

IDEC CORPORATION

http://www.idec.com

Manufacturer: IDEC CORPORATION, 2-6-64 Nishimiyahara, Yodogawa-Ku, Osaka 532-0004, Japan
EU Authorized Representative: APEM SAS
55, Avenue Edouard Herriot BP1, 82303 Caussade Cedex, France
UK Authorized Representative: APEM COMPONENTS LIMITED
Drakes Drive, Long Crendon, Buckinghamshire, HP18 9BA, UK

2021.12



	B-1229C_org
	B-1229-1C_org

